Control de Radicales

1.- Simplifica: (1,5 puntos)
a) Ya®b® = Yab? b) Y¥la® = 3o’

2.- Extrae del radical: (1,5 puntos)

a),/17652 3\/7 b) ¥/81a*b® = 3ab¥/3a ¢ 5—

3.- Racionaliza y simplifica: (2 puntos)

a a'm b) 3Va _3¢/a

) =

Jm  m Ya

c)

2J2-\10 1-42

4.- Opera: (5 puntos)

a) 24/20 + 4+/80 — 54180 + 3125 = 55

b) %\/128 6451 —%\/3_2 3498 = 7542

i
d) (V63 ~98 V175 +V128) =30-4V14

(2451 6x/_)(x/3+«/—)
\/1+\/5+ 10+

V2a  §2a°

‘ e6a® 247

/216 g 6m b° o

V832 _ 5o f—J_ o BN 5 5 2520



Solucion

1.- Simplifica: (1,5 puntos)
a) Ya®b® = Yab? b) Y¥la® = 3o’

2.- Extrae del radical: (1,5 puntos)

a),/17652 3\/7 b) ¥/81a*b® = 3ab¥/3a ¢ 5—

3.- Racionaliza y simplifica: (2 puntos)

a a'm b) 3Va _3¢/a

) =

T m %

c)

2J2-\10 1-42

4.- Opera: (5 puntos)

a) 24/20 + 4+/80 — 54180 + 3125 = 55

b) %\/128 6451 —%\/3_2 3498 = 7542

i
d) (V63 ~98 V175 +V128) =30-4V14

(2451 6x/_)(x/3+«/—)
\/1+\/5+ 10+

V2a  §2a°

‘ e6a® 247

/216 g 6m b° o

V832 _ 5o f—J_ o BN 5 5 2520
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